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Dielia function aad periedic function forcing of mechanical sad electrical systems.
Sections 10.4, 105, EP 76

> with{ plots) :
> plotl = plof{ .1 -t-sin{s), i= 0..10-Pi, color=black)
plot? = plat{Pi-sin(f), 1= 16-P1L20-P, color = black) ©
plotd = plot{Pi, t = 10-P5..20-Bi, color = black, linestyle =2} :
plotd = plot{ -Pi, 1= 10-Pi . 20-PL, color = black, linestyle=2} :
plotd == plot{ 11, i =0 . 10-Pi, color = black, fingstyle =21 :
ploté = plot{ ~. 15, 1 =0.10-P, color = black, linesivle =21
displayl { ploti, pioi2, plor3, plet4, plois, plor6}y, title = ‘Friday adventures at the swingset'},

Friday adventures at the swingset
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impulse solution: five equai impulses to get same final amplitude of T meters:

> f= = 2-Pi-sum( Heaviside(: — k-2 -Pi) sin{r —£-2-Pi}, k=0.4}

> plot{ {1}, £=0.20Pi, color = black, itle = "lazy parent on Monday');
lazy parent on Monday
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Or, an impulse at7 =0 and another one at 1 = 10w,

>
> g t—+.2-Pi-{2-sin(¢) + 3-Heaviside(z — 16-Pi) sin{r — 10-Pi}} :
= plot(g(t), t=0.20-Pi, color = black, title = ‘very luzy parent’};

very lazy porent
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